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P( AU B) = P(A)+P(B) — P( AN B) P(AU B U C) = P(A)+P(B)+P(C) — P(AN B N C)
IF A,B mutually exclusive : P( AU B) = P(A)+P(B)
IF A,B,C mutually exclusive : P(A)+P(B)+P(C)
IF A,B independent : P( AU B) = P(A)+P(B) — P(A)*P(B)
Conditional probability :
_ PC(ANB) _ PCANB)
P(A/B) = ECA0 P(B/A) = ELA0
Bavys Rule :
P(D)=P(C)*P(D/C) + P(A)*P(D/A) + P(C)*P(D/A)
Adsa (o 38 Cra ) AL Ailalia
_ PCAY*=P(D/AD
P(A/D) = D
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Sfx — 1 P(X=x) = f(x)
S, y) = 1 f(x) = F(X)-F(X-1)
S fx.dx = 1 P(X= x) = F(x)
I Fx. ) dx dy =1 P(X= x) = 1 — F(x-1)
Pla<x <= b)) =2 Ffx.dx =1
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h(v) = S50, FCx, 3. dx Variance :
o? = EX?) — (EXD))D*? o2 = E(@(x)?) — (E(@(X))*
Conditional :
_ FC(x.) _ LF(x) . - . _ _
f(y/x) = T f(x/vy) ) Co-Variance : Ty E(XY) E(XDEY)
Correlation Cofficient :
_  9xvy
Expected Value : Pxy = 5 ox
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Bionomial Distribution

B(x,n,p) = ( : )p"q""‘

q=1—p
Mean M = np
Variance o? = npqg

Hypergeometric Distribution
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Negative Bionomial Distribution
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Geometric Distribution

Poisson Distribution

Density Function of CUD

e p) = pg*? e~ (O v 1
g pl L p(x,a):# p(a<x<b)=f—dx
M = — x! a b—a
/2] M = A A+ B
1 — pr o2 = A M = ——
o2 = —— 2
P oz — (B — A)*
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Normal Distribution Standard Normal Distribution Normal Approximation Bionomial
1 _1Gx=n2 x — M , =X NP
= 2 z z = = = &
o == c . p Inpaq
Mode = Mean = Median Right of zero = M + no M = np
x =M + & Left of zero = M — no o2 = npq
Area = 1 M =0
o? =1

Chebyshev’'s Theorem

Middle = 1 — —

Right = m

Exponential Distribution

£ B =eﬁ,ﬁ x>0
oc= 1

M =g
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